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Correct Marks: 4 WrongMarks: 1
If Surface tension (S), Moment of Inertia (I)
and Planck’s constant (h), were to be taken
as the fundamental units, the dimensional
formula for linear momentum would be :
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A particlestarts from origin O from rest and
moves with a uniform acceleration along
the positive x- axis. Identify all figures that
correctly represent the motion qualitatively.
(a =acceleration, v = velocity,
x=displacement, t = time)
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A body of mass m, moving with an

unknown velocity of 7y i, undergoes a
collinear collision with a body of mass m,

A

moving with a wvelocity ;;.12'{'. After

collision, m; and m, move with velocities

of vy i and Uy P respectively.

If m,=05 m, and Uy =05 0y, then (& is :

Options:
I:'_q__ U
41652357494, i
I‘Z
%=
41652957495,
Uyt 0,
41E529574596, ~
U
T
41652357497,

Question Number : 4 Question Id : 41652914679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ZHM m, = T 902 3= 97 o) i ey

TU U ZHL ZTHA m, 1 97 0, i W W &
ue fove | Y9EE 998 36 T H9g F °e
m, T m, T A 0y § T 0y | W TS
afe m,=0.5 m, W0, =05 v, &, Ao, BN :
Options:

I:'_q__ U
4165238574394, o



I1
Ps— a

)
41652957495, 2

Uy -+ T,
41652957496, i
Uy
i al
41652957497,

Question Number : 5 Question Id : 41652914680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A solid sphere and solid cylinder of
identical radii approach an incline with the
same linear velocity (see figure). Both roll
without slipping all throughout. The two
climb maximum heights I;_ﬁ,h and hl? ,on the

I Laph

incline. The ratio 7 is given by :
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A uniform rectangular thin sheet ABCD of
mass M has length a and breadth b, as
shown in the figure. If the shaded portion
HBGO is cut-off, the coordinates of the
centre of mass of the remaining portion will

be :
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A rectangular solid box of length 0.3 m is
held horizontally, with one of its sides on
the edge of a platform of height 5 m. When
released, it slips off the table in a very short
time 1=0.01 s, remaining essentially
horizontal. The angle by which it would
rotate when it hits the ground will be (in
radians) close to:
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A rocket has to be launched from earth in
such a way that it never returns. If E is the
minimum energy delivered by the rocket
launcher, what should be the minimum
energy that the launcher should have if the
same rocket is to be launched from the
surface of the moon 7?7 Assume that the
density of the earth and the moon are equal
and that the earth’s volume is 64 imes the
volume of the moon.
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Young's moduli of two wires A and B are
in the ratio 7 : 4. Wire A is 2 m long and
has radius R. Wire B is 1.5 m long and has
radius 2 mm. If the two wires stretch by
the same length for a given load, then the
value of R is close to :
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The given diagram shows four processes
i.e., isochoric, isobaric, isothermal and
adiabatic. The correct assignment of the
processes, in the same order is given by :
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The temperature, at which the root mean
square velocity of hydrogen molecules
equals their escape velocity from the earth,
is closest to :
[Boltzmann Constantk;=1.38 x 10~ 2 J/K
Avogadro Number N, =6.02x 10%° /kg
Radius of Earth : 6.4 X 10°m
Gravitational acceleration
on Earth =10 ms 7]
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A damped harmonic oscillator has a
frequency of 5 oscillations per second. The
amplitude drops to half its value for every
10 oscillations. The time it will take to drop

to of the original amplitude is close
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An electric dipole is formed by two equal
and opposite charges q with separation d.
The charges have same mass m. It is kept
in a uniform electric field E. Ifit is slightly
rotated from its equilibrium orientation,
then its angular frequency w is :
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A parallel plate capacitor has 1pF
capacitance. One of its two plates is given
+ 2 wC charge and the other plate, +4 pC
charge. The potential difference developed
across the capacitor is :
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A positive point charge is released from rest
at a distance r_ from a positive line charge
with uniform density. The speed (v) of the
point charge, as a function of instantaneous
distance r from line charge, is proportional
to :
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The electric field in a region is given by

E=(Ax1B) ! ,where Eis in NC land x is

in metres. The values of constants are
A=20 SI unit and B=10 SI unit. If the
potential at x=11is VI and thatatx= —-51is
VE, then Vl - Vz is :
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A cell of internal resistance r drives current
through an external resistance R. The
power delivered by the cell to the external
resistance will be maximum when :
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In the figure shown, what is the current
(in Ampere) drawn from the battery ? You
are given :
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Two very long, straight, and insulated
wires are kept at %0° angle from each other
in xy-plane as shown in the figure.

These wires carry currents of equal
magnitude I, whose directions are shown
in the figure. The net magnetic field at point

P will be :
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Two magnetic dipoles X and Y are placed
at a separation d, with their axes
perpendicular to each other. The dipole
moment of Y is twice that of X. A particle
of charge q is passing through their mid-
point P, at angle 6 =45° with the horizontal
line, as shown in figure. What would be
the magnitude of force on the particleat that
instant 7 (d is much larger than the
dimensions of the dipole)

< d -
S
SR W O &
X N
(M) ¥
(2 M)
Options:
b T,
[lhl-_ﬂ ‘_hla }(qz!
41652957558, el
' 3
["l—“ = _Xqu
(%)
41652957559 B
0
41E529575E0.
\.I'"E_{u—n) e ,;KL i)
\ —l’:T/.l (L.E.F} ]
41652957561, =

Question Number : 20 Question Id : 41652914695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



3 Fraw feyal X aa Y 1 faenqam d 0
T, S A FN TR T=Tq 7, WY
1 f5ya Ui X FATNE | q 9 FTH
%1 3 F1 & 9% 7 fag PO dfas T 9
0 =45° 3 0 I, FeAER, TeRa 21 9 g
R T W UF o o 1 GEHT B 7
(fe 2 : d 549 F 3MFR (dimensions) ¥

e =21 8)
d
S
Sy N O
X N
M) »
2M)
Options:
[u_n ZF\.I XqD
%)
41652957558, £
\4Txfd'r
41852957559, :
0
41652957560.

Fin)
41552357561, -

Question Number : 21 Question Id : 41652914696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A circuit connected to an ac source of emf
e=e¢,s5in(100t) with t in seconds, gives a

phase difference of E between the emf e

and current i. Which of the following
circuits will exhibit this ?
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RC circuitwith R=1kQand C=1 pF
41652957562,



RC circuit with R=1 k{} and
41652057553, ©= 10 uF

RL circuit with R=1 kf) and
41652957564, L=10 mH

RL circuit with E=1 kf} and

41652957565, L= 1 mH

Question Number : 21 Question Id : 41652914696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

w9 U T 9 96 e =esin(100t), 5@t
TFUE | T, F TAEd S UF g0y g

Sir=d & 1 foera A Ot e a9 9 i 6 E e
Fel o o e e A § T afe |

T BFm 7

Options:

Alesoos7sgs RC-TRW, SEIR=1kQANC=1uF
Alecoos7egg RC- 04, SEIR=1kQTAMC=10 pF
41652057554 RL-TTY, SRR =1kQTAML=10 mH
41650957565 RL- TR0, SRIR=1kQ T4 L=1mH

Question Number : 22 Question Id : 41652914697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The magnetic field of an electromagnetic
wave is given by :

B=1.6x10"5cos (2 %1072 +6x10'% ) 27 + ) V2

-

m
The associated electric field will be :
Options:
E=48x102cos (2% 10724+ 6x 1015 (-1 +2 ) —
415295 7EEE. m

E=4.8%10%cos (2X 107 2— 61015t )(—2 j +1 )~
41552957567, L



E =4 8x102cos (2 107246 x 105t (-2 )~
41652957568, o

E =4.8x102cos(2x1072-6x 1015¢) (21 + )~
41652957569, m

Question Number : 22 Question Id : 41652914697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U fagd F=EaE T % TERE 897 e
e

B=1.6x10 0cos(2x10724+6x10151)(2 1+ )2

m
Options:

E =4.8x10%cos 2% 107 2+6x 1015t ) (— i +2 ) —
41652957566, e

E=4.8%10%cos (2X 107 - 6x 1015t )(=2 j +1 )~
41552957567, L

E=4.8x10%cos(2x 1072 +6x 10t )( Q—l}}l
41 eE2aE7EER. Iy

E =4.8x10%cos (23107263105t )¢ 2}"{;'].\‘_'
41652957569, L

Question Number : 23 Question Id : 41652914698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A convex lens (of focal length 20 cm) and a
concave mirror, having their principal axes
along the same lines, are kept 80 cm apart
from each other. The concave mirror is to
the right of the convex lens. When an object
is kept at a distance of 30 cm to the left of
the convex lens, its image remains at the
same position even if the concave mirror is
removed. The maximum distance of the
object for which this concave mirror, by
itself would produce a virtual image would
be :

Options:

41650057570, 0 €M



25 cm
4152957571

20 cm
41552957572,

41650957573, 10 cm

Question Number : 23 Question Id : 41652914698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U 396 ol ( IFE T 20 cm ) 71 U 376
o, S R A E A T,
THL Y 80 cm 1 T T @1 TN E; ATl U]
I o9 & TAfeA] TWF @ F 1 9 U a5
Wﬁ?%ﬁﬁ%Sﬂcmﬂﬁ{ﬁﬁHﬁ
AT 8, 1 SR whatee St T E we g,
el & ST 29 = 9l fEfa | 72 fam
W R H HlaEwas g1, Toue fow 9w
Faael g9 ge | F A9 giafEa amm,
2

Options:

41650057570, 0 €M

25 cm
41529575 T 1.

20 cm
4152957572

41650957573, 10cm

Question Number : 24 Question Id : 41652914699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Calculate the limit of resolution of a
telescope objective having a diameter of
200 cm, if it has to detect light of wavelength
500 nm coming, from a star.

Options:

9 "
41650957574 10291077 radian

157 9 radi
A1EE29E7575 4575 =10 radian

9 .. .3z
41652957576, A10 x 10 radian



(-} : S
41652057577 202X 1077 radian

Question Number : 24 Question Id : 41652914699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF a2 T A1 T 500 nm T F AFH F
HHEd (detect) F % @9 200 e =H F

Hifad
Options:
9 .
416spas7srg 1929 %1077 radian
ABT 9 .
41650957c7s 975X 1077 radian
9 . 8
41650957576, 010X 1077 radian
9 o
41652957577 202X 1077 radian

Question Number : 25 Question Id : 41652914700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A nucleus A, with a finite de-broglie
wavelength A AF undergoes spontaneous
fission into two nuclei B and C of equal
mass. B flies in the same direction as that
of A, while C flies in the opposite direction
with a velocity equal to half of that of B.
The de-Broglie wavelengths Ay and A of B
and C are respectively :

Options:

. WP 1
41652957578, ~ VT A

A, 2N
41B52957579, AT TA

416528957580,

41652857581,

Question Number : 25 Question Id : 41652914700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



TRfAa S-Ael T A F T AEE A F
=d: TaEued FE §599M o 2 A9 B a4
CH 21 21 B Ak A &1 faun & qen C nfak
HF ARE W ABF AT AT @
B C Wi I-HIel TTa, Ay THI A T
EuE

Options:

P
41652957578, ~ A

Ay, 2\

41652957579  ATTTA

_,- h:_ﬂi
41552357580,

A
My

Ar
41852957581,

Question Number : 26 Question Id : 41652914701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The ratio of mass densities of nuclei of ¥*Ca
and 0 is close to :

Options:

41652857582, bA

416525957583,
41552357584,

416525957585,

Question Number : 26 Question Id : 41652914701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
NCa 991 100 & AM9H F F=09H A &
ST 1 HFAHE HH 2T

Options:

416525957582, b

41852957585,



416523857584,

416525957585, :

Question Number : 27 Question Id : 41652914702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A common emitter amplifier circuit, built
using an npn transistor, is shown in the
figure. Its dc current gain is 250, R(_ =1kQ
and V-~=10V. What is the minimum base
current for V¢ to reach saturation ?

.
Rg <Re
S i <
L
x\\};

-,

T VB =g

i P P

Options:

41650057588, 10 A

41650957557 O RA

41652057588,  MA

41650957580, 100 BA

Question Number : 27 Question Id : 41652914702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



fﬁ_:lffﬁnpn ZIFE=R G 991 719 39S
e Wad = fom T # ) sqF de o
9949 250 ¥ q97 THH R.=1 kQ a1
Vee=10V gl Vg =1 Hghd (saturation) &
oTd ST9R 9/ &1 =g9a9 |5H 80 ¢

!
U
-
o
[ ]
!
-,
~
'@

TEE 3 FrF

Options:

4165005758, 10 BA

41es0as7sgr. U RA

41650057588, | MA

41650057580, V0 BA

Question Number : 28 Question Id : 41652914703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a line of sight radio communication, a
distance of about 50 km is kept between the
transmitting and receiving antennas. If the
heightof the receiving antenna is 70 m, then
the minimum height of the transmitting
antenna should be :

(Radius of the Earth = 6.4 x 10° m).

Options:

40 m
4152957590,

3
41650957501, 2 M

51 m
4152957592,

41650957593, 20 M



Question Number : 28 Question Id : 41652914703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U gfterdE ed J=R § Yo a9 ST
T % =950 km ® i €1 9fg SAfEmE
U1 %1 S91E 70 m & o U U= 1 a9
g B e

(fem % : geat it == 6.4 10°m)

Options:

40 m
41552957590,

3
41652957591 S

5l m
4152957592

4165289575593, Am

Question Number : 29 Question Id : 41652914704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the circuit shown, a four-wire
potentiometer is made of a 400 cm long
wire, which extends between A and B. The
resistance per unit length of the
potentiometer wire is r=0.01 {}/cm. If an
ideal voltmeter is connected as shown with
jockey | at 50 cm from end A, the expected
reading of the voltmeter will be :

15V, 15V, o
050 050 A.”'“A"H—l |

|
|_’H' = 50 cm
<10 =

Bl*—'l 00 cm——

Options:

418529575594, RN

0.20V
4165259575595,

41652857556, 0.0V

7
415523575397, 0.5V



Question Number : 29 Question Id : 41652914704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

femard T4 ufyy § UF =W 9R 9 e
F 400 cm T TR 1 A 91 B % =9 § A0
T 2 (e SfEd) | 59 faveardt R &1 uEe
=TS 9fel1g r=0.01 Q/cm ¥ | 2 T 3729
e Fl FaTER Fiwl | F @ A9
mcniﬂﬁﬂmﬁ%. 1 dieeHiet & edis
=1 27Uferd 9= 20

15V, 15V, s
05 050 AV

| Am” J
F Hi J 50 cm
10

Bli—‘l[}ﬂ cm—»

Options:

416525957594, IV

0.20V
418529575895,

41652857556, 0.50'V

T
416528957597, 0BV

Question Number : 30 Question Id : 41652914705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a simple pendulum experiment for
determination of acceleration due to gravity
(g), time taken for 20 oscillations is
measured by using a watch of 1 second least
count. The mean value of ime taken comes
out to be 30 s. The length of pendulum is
measured by using a meter scale of least
count 1 mm and the value obtained is
55.0 cm. The percentage error in the
determination of g is close to :

Options:

2 9
41652957598, 0.2%

T 0y
41650957599, -/



416523857600,

41650057601, OO

Question Number : 30 Question Id : 41652914705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
UF TiE S o WA, e TEEE =1
(g) AT 2, F 20 el F HHY UF 1 sec
HeqaHiF aicll UH faud 921 § J9d 21 59
TF 1 I B30 s A | Sl ohi owels

F1 1 mm FCYaHF F 999 F A W
55.0 cm #G E1 g F A9 H wfawd 32
qfAF< 9F &
Options:
2 Y
41652957598, -2
0.7 %
41652957599,
=
s
41E852957600,
6.8 %
41652957601, =
Cherristry
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Question Number : 31 Question Id : 41652914706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The structure of Nylon-6 is :

Options:



41652957602, c- (CHs— ]_
Q IF

41652957603, ﬂr_tt}lﬂﬁ__Pd}h
ro

4165295?6D4_'{((**ﬂ4“('—Pd}h

O H
[

CH.).—C—N
4165295?6@5.-[{ 26 n

Question Number : 31 Question Id : 41652914706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A6 T T & :

Options:
D
{—[fl N]‘
41652957602,
CJ
¢ (CH,) N}
41652957603,
I ”1
T
41652957604, (CHos n

CH.J.—C—N
4165295?6@5.-[{ 26 n

Question Number : 32 Question Id : 41652914707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The major product obtained in the
following reaction is :

[“HHHE (i) CHCl3/KOH

s~ (i) Pd/C/H,
tn S

Options:




41652957606, <N OH

41552357607,

41652857608,

a;#ﬁhm‘[NCH:}
.("N .l'.}l |
41652957609 i ¢

Question Number : 32 Question Id : 41652914707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= sifufan & 9 89 91 9= SE T

|

>N g chel/xoH
. M Tayrd/o/m,

\'|CN O
Options:
H
_~~__~NCHCl,

41652957605, N OH



__..-':Z-“""-._ -_____.NCI I3
S Jg
41652057607, ON
H
.-':.-'-'-M NCI IEI
/] OH
41652957608, 2N
H
-;;\HH"ENCHE
41652057600, v OH

Question Number : 33 Question Id : 41652914708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major productin the following reaction

15 :
NH,
N ,--"*-J-[t"‘:'- N
H
Options:
NHCH,
fiN'“'* I:::“"N
ol )
M- ~N?

41652957610, H

P I
a8
‘TF““E¢$§
CHj

416528957611,



ZT.7
\'N"" ""--...:-\l.-}.::::-'-"
| |
H  CH,
41552957512,
NH,

41852957615, H

Question Number : 33 Question Id : 41652914708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
foet safuferan 9 g see ©
NH,

I
N~y

¢ “ ] % chgy heser

Options:
NHCH,

Ny
€l o

““N"
41652957610, H

41852957611,

am
x\_r\:__-. "-.._-..h:-\l.-]-.::::-""

| |

H CHS

41652857612,



416525957613, H

Question Number : 34 Question Id : 41652914709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Polysubstitution is a major drawback in :

Options:

41650057614 riedel Craft's alkylation

41655957615, Friedel Craft's acylation

41652957616, Acetylation of aniline

41652957617, Reimer Tiemann reaction

Question Number : 34 Question Id : 41652914709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e # 9 ford TeuiaeT v g5 FHi €7
Options:

41652957614, TIecSbIde b

41652957615, ST~ THTEere (Tfedtahon)

41552357616, !

41552357617,

Question Number : 35 Question Id : 41652914710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Fructose and glucose can be distinguished

by :

Options:

Fehling’s test
415295 7E1E.

41652957619, Benedict's test



RS Barfoed's test

41652957621 Seliwanoff’s test

Question Number : 35 Question Id : 41652914710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

RIS a9l T 7 e g ea 1
T &2

Options:

41652357618, 5 %

41650057610, ATSAE WA

41652857620

e = !

416528957621, I AL

Question Number : 36 Question Id : 41652914711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product obtained in the

following reaction is :

re o f
Options:

Cl I3
N
\ _.--Ef
e O .-II_ == "lll

i

41852957622, O
[
r’f} 5 ™

41652957623, O



41652857624,

416525957625,

Question Number : 36 Question Id : 41652914711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= srfuferan & 9 29 9 g5 30 ©

w8
OHC " NaOH
Options:
i}ij
& N
Y _.-’f
hEl __II— _.-'lll
O
41652057622, O
R
"
41652957623, O
Hj,{;\ f %
Ho_ 3
[ S
O
CH,

41552357624,

41652957625, 3



Question Number : 37 Question Id : 41652914712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

The major productof the following reaction

18 1
CH,
-_-'_.-.- e {1:] Clzl,';:h.v
” (2) H,0O, A
Cl
Options:
"i:} 1,OH
Cl
41652957626,
41652957627,
41652957628,
41652957629, o

Question Number : 37 Question Id : 41652914712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

f1 safaferan =1 7= 3ee €

e

(1) Cly/hv
” (2) H,0, A




Options:
Cl 1201 1

i
e ;

a1esoos7ece. O
41652957627
41652957628,
41852957629. Cl

Question Number : 38 Question Id : 41652914713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction

At 2O (1) 'BuOK
LT T o @cmioss
Options:
[.ﬁx# ~0

41652957630, - ™

41552357631, g



41652957632, s \
‘\,,;ﬁ::""-n..ﬂ_.s"' HHJ..*’D
41652957633 S

Question Number : 38 Question Id : 41652914713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

=1 srfaferan =1 9= 3= ©

- [ T #.:j;(] [1} tBuDK _
W ” [ (2) Conc. H,50,/A

41652957630, 7 &

41652857631, g

1 o L
1”‘ | =
.:'\-\.__. e
S "

41652957632
'\f_,:f”""-a..ﬂ_.s"' H'MJ..*’D
41652957633, i N

Question Number : 39 Question Id : 41652914714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following compounds will
show the maximum ‘enol content ?
Options:

4igssen7esd, SatOCHCOCH,



CH,COCH,COOC,Hs
41652957635, ' . =

416525957636, CH3L'G:H3

CH,COCH,CONH,
41852957637, . = =

Question Number : 39 Question Id : 41652914714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= Afel § § FF- ‘gAra’ & s
AT YT 4 ?

Options:

41652957634, TRCOCHLCOCH,

CH,COCH,COOC,Hs
41652957635, ' . =

41E52857E3E. CH3L'DCH-"‘

CH,COCH,CONH,
41552357637, % = =

Question Number : 40 Question Id : 41652914715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following alkenes when
treated with HCI vields majorly an anti
Markovnikov product ?

Options:

CH,O0-CH=CH,
41652857638, ’ *

41650957639, 3¢~ CH=CH,

41650057840, 1 CH=CHy

41650057641, TN~ CH=CH,

Question Number : 40 Question Id : 41652914715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

frafafad el § ¥ FH-91 U6 HCl F
19 FTERA e AT Us Wi A%
IR SAE?

Options:



CH,0-CH=CH,

41652957638,

41652057639, T3¢~ CH=CH,
41652957640, L~ CH=CHy
41652957641, T2l —CH=CH,

Question Number : 41 Question Id : 41652914716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The IUPAC symbol for the element with
atomic number 119 would be :

Options:

une
416528957642,

uun
41552357643,

unh
41552957544

uue
41852957645,

Question Number : 41 Question Id : 41652914716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
119 JTHIY] ¥ 911 e = folg, 2778, 9, 9.1, 51,
Teiteh 21

Options:

une
41552857642,

uun
41552357643,

unh
41552957544

uue
41852957645,

Question Number : 42 Question Id : 41652914717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The Mond process is used for the :

Options:



41650957646 SXtractionof Zn

extraction of Mo
41552957547,

purification of Ni
4152957648,

41652957649 purification of Zr and Ti

Question Number : 42 Question Id : 41652914717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Options:
Zn % Trepm & oo

416528957646

41652957647, MO ™ e & ferg

41652957645, N1 JMHT % TAC

41650957649, Zr 091 Ti & WEA & feg

Question Number : 43 Question Id : 41652914718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The strength of 11.2 volume solution of
H,0, is : [Given that molar mass of

H=1 g mol land O=16 g mol 1

Options:

3.69
41652857650, Bek

rd r""'
41652957651, 3.4%

Qf
it ]

416528957652,

o
4165295 PEEE 34%
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H,0, % 11.2 e faead #f 9 g,
(fem 2 : SR F=MH H=1g mol ~ ! A<
0=16 g mol by

Options:

3.67
41552357650, 15.6%

41652957651,
41E52857E52,

41552357653,

Question Number : 44 Question Id : 41652914719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The covalent alkaline earth metal halide
(X=Cl, Br, 1) is :

Options:

41652057654, DeX2

41650957655, &%

CaX,
41552957556,

Srx,
41EE295FELRT. i

Question Number : 44 Question Id : 41652914719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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e @R §E 4y gense (X =Cl, Br, 1)
2

Options:

41650957654, B2

41650057655, &%

CaXx,
415295 7E5E.

Srx,
41652957657, =



Question Number : 45 Question Id : 41652914720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 _
The correct statement about ICl; and IC]_{
1S :

Options:

41652957658, both are isostructural.

[Cl; is trigonal bipyramidal and .IC I

41655957659, 18 tetrahedral.

I‘-‘ZI5 is square pyramidal and IC l_; is
41652957660, Square planar.
IC15 is square pyramidal and ICI; is

41650057661 tetrahedral.

Question Number : 45 Question Id : 41652914720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[Cl; @ ICl; o o o FuA ¥ -
Options:

e L __ 1- —
41652357658, S El €l

ICl, Torgmemes fafrafasl aon 1c
41652857659, AT T

IC1, = foafeel g1 [C1, = JHac
41652057660, B

ICl; = fqfHel 9o ICl, JqoFasid
2

41552357661

Question Number : 46 Question Id : 41652914721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The ion that has sp3d2 hybridization for the
central atom, is :
Options:

41650057682 (Pl



4165249576E63. [1CL,]

416528957664, [[Ff"j

[1CL,]

4185295 7BEE.

Question Number : 46 Question Id : 41652914721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1§ 4 g A | 5 9] & G
sp°d® #7?
Options:

41650057682 (Pl

41652957663, [1CL,]

41852957664, [[Ffd

[ICL,]
41652957665, b

Question Number : 47 Question Id : 41652914722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The statement that is INCORRECT about
the interstitial compounds is :

Options:

41650957666, they have high melting points.

41652957667 ey arevery hard.

41652957668, they have metallic conductivity.

41650957669, they are chemically reactive.

Question Number : 47 Question Id : 41652914722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

SoRrer AR F AR H S FY SEE 2,
T|E
Options:



g

IF ToTE 39 B

41652957666,
41652957667, 3 TG0 HOIL B g

41652957665, ST S Hehal Al €
aleso9s7ase 3 WM ¥ H AfufFaTeic 2 4

Question Number : 48 Question Id : 41652914723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The compound that inhibits the growth of
tumors is :

Options:

416528957670, C;S-[Pt{CI]E{NH3]2]

a1esoos7ery [Mans-[PHCT),(NH;),]

iitesosrays PP (NH )]

trans-[Pd (CT),(NH
4165235767 3. s e }2{ 312}

Question Number : 48 Question Id : 41652914723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T2 T S 29 H 9fs FTAFAE,
Options:

41652957670, fE-[Py(Cl), (NH,),]

a1650057671 17 1PUCT), (NH;), ]

41652957672, RrE-[PA(CT), (NH,),]

416529057673, 19 1PA(Cl), (NHy),]

Question Number : 49 Question Id : 41652914724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The calculated spin-only magnetic
moments (BM) of the anionic and cationic
species of [Fe(H,0).], and [Fe(CN),],
respectively, are :

Options:

49and 0
4152957574,

41650957675, 0 and 5.92

4tesoasrerg, Uand 4.9

>
41650057677, ~orand5.92

Question Number : 49 Question Id : 41652914724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[Fe(H,0)], 741 [Fe(CN),] & i a4
YAEfAE TS F UREET I=9E0 - O
JrEHF AT (BM. ) FHHE: 2

Options:

416525957674, 4970

2
41E52857E7E, 0791 5.92

41E52857E7E, bl

2 R 2
41552357677, 2.84 11 5.92

Question Number : 50 Question Id : 41652914725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The maximum prescribed concentration of
copper in drinking water is :

Options:

0.5 ppm
41552957578, PP

41es09s7erg. U-00 ppm

3 ppm
4152957280, PP

5 ppm
41552957281, PP



Question Number : 50 Question Id : 41652914725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Y % §el H FI (09 H i aAfasan
U5 ©

Options:

(0.5 ppm
415295767 R, PP

41650957679, 0-05 ppm

3 ppm
4152957280,

5 ppm
41eE29E7EE]1.

Question Number : 51 Question Id : 41652914726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The percentage composition of carbon by
mole in methane is:

Options:

F‘nl.'
41652957682, 5%

o
41652857683, e

o
416528957684, A%

ar
41852957685, 80%

Question Number : 51 Question Id : 41652914726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
O/ &% R W {EA § Fea F1 wfaema
Options:

416525957682,

-
4185295 7EES. D%

o
41552357654, A

-
416525957685, 80'%



Question Number : 52 Question Id : 41652914727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the boc unit cells of the solids 1
and 2 with the position of atoms as shown
below. The radius of atom B is twice that

of atom A. The unit cell edge length is 50%
more in solid 2 than in 1. What is the

approximate packing efficiency in solid 2 ?

A

Solid 1 Solid 2
Options:

o
41652857686, %

Lgm D'
41650057687, 12 P

41852957688,

416525957689, 0

Question Number : 52 Question Id : 41652914727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1



319 1 991 2 THmE i fefq & oy, S fE
T ST TR, S AL EL L (FET) ThE
FiftZe W 9N Fif0 | 97659 B = B
T A F B W g R 2m 1 U
HINSH 1 FR s 4 34 2 Fi U HifeSH
1 T TE=E 50% A= 21 3 2 H e
THFeT 2o T 2 7

Solid 1 Solid 2

Options:

-
41552357686, 0%

~y D 3
41650057687, 2P

pa—
41852957688, 6%

AR,
41652857689, Bk

Question Number : 53 Question Id : 41652914728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[f p is the momentum of the fastest electron
ejected from a metal surface after the
irradiation of light having wavelength A,
then for 1.5 p momentum of the
photoelectron, the wavelength of the light
should be :

(Assume kinetic energy of ejected
photoelectron to be wvery high in

comparison to work function) :

Options:
1
;}u
416529357690, <
2
—A

41652957691, 0



,
Y

41652057692, 4
4

41652957693, 2

Question Number : 53 Question Id : 41652914728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ife A TS F g 3§ o 29 W U
o1 &1 9ae o e U digad e #
T p @ T WO SR F 1.5 p WA H
ferT wepTer = e 2
(A wiferd fof Fenifag Ty seeeE i
K.E. (71fdl 3sll) SHe 1w H1 ol |

g 399 8)
Options:
1
A
4152957690, <
2
)

41652957691, O

41652857632,

4165259576593, 9

Question Number : 54 Question Id : 41652914729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Among the following molecules/ions,
i TR

5N 05,00

which one is diamagnetic and has the
shortest bond length ?

Options:
41652957694, GE

B
¢2
418529578495 ©



7
2

41852957656,

0,
41652957697, =

Question Number : 54 Question Id : 41652914729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1 oyl |

s NS,05 G

S Wi 4 § SR ST S oS Hal
FHE?
Options:
02
41652957694, 2
Eom
C
41652957695, <
T,
N’J—

41652957698, 2

418529576597,

Question Number : 55 Question Id : 41652914730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Smoles of an ideal gas at 100 K are allowed
to undergo reversible compression tll its
temperature becomes 200 K. If
Cy=28] K !'mol ! calculate AU and ApV
for this process. (R=8.0]J K I mol ™1

Options:
41652057695, U~ 1K APV) =181
41652057699, SU=14L:A(PV)=08]
41652057700, DU KL APY)=4K]
disssgsann SO 2R ARV)=08%

Question Number : 55 Question Id : 41652914730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



100 K T, & 371991 719 % 5 el 1 SchAE
Tifed 79 aF fora1 Sl € 5@ a9 w9
9 200 K @i 217l | € C,, =28 K~ 'mol 1,
@1 59 WA & fAu AU @91 ApV I ORI
FAfAC (R=8.0] K~ mol 1)

Options:

i16509576gg, AUT14KLA(PY)=18K]

41650057690 AU=14LA(pV)=08]

r r: * T —_—
ilEssaszrop U=k A(pV)=1k]

AU=28 KJ;: A(pV)=08 k
41652957701, ] {PV} ]

Question Number : 56 Question Id : 41652914731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For the solution of the gases w, x, v and z
in water at 298 K, the Henrys law constants
(Kyy)are 0.5, 2, 35 and 40 kbar, respectively.
The correct plot for the given data is :

Options:
z
,/‘/-/
et
partial -
ressure
g X,
___—W
(0, 0) mole fraction
41652957702, of water

partial
pressure

s

(0,0) mole fraction
of water

41652857703,



partial
pressurc

 \Y
g

- __\_x_wr ’

(0,0) mole fraction

of water

416528957704,

partial
pressure

(0,0) mole fraction

41652957705, of water

Question Number : 56 Question Id : 41652914731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

208 K T 9 § T w, x, y 941 z F faea &%
foe & fram feemies (Kyy) &9 05, 2, 35
a7 40 kbar 21 T2 el & fod w8 =
:

Options:
z
5 _.-o-"'"f
partial ¢ e W
.
ressurey
£ et
RIS .
(0, 0) mole fraction
41652957702, of water

partial
pressure

r

(0, 0) mole fraction

of water
4152957702, . ae



partial
pressurc

(0,0) mole fraction

41652957704, of water
=
partial ..
_'[JI'L"SSUI‘E =
X
'\-\.W }
(0,0) mole fraction
f wat
41652957705, o water

Question Number : 57 Question Id : 41652914732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

For the following reactions, equilibrium
constants are givr_-n :

S(s) +Oy(g) = SO,(g); Ky =102

25(s) + SDE{E_}'—' 2504(g); K, = 10129

The equilibrium constant for the reaction,
250,(g) +O,(g) — 250,(g) is :

Options:

77
41852957706, 10

10181
41652957707

154
41652857708, 10

25
41852957709, 10

Question Number : 57 Question Id : 41652914732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



e &t ¢ siuimans % ford wr fes fea
™Y
S(s) +O,(g) — SO4(g); K; =107
25(s) +30,(g) = 250,4(g);K,=10129
At
250,(g) +O,(g) = 250,(g) T ¥ featia
I

Options:

1077

416528577086,

10181
41652957707,

134
41552357708, 10

25
416528577038, 10

Question Number : 58 Question Id : 41652914733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Calculate the standard cell potential (in V)
of the cell in which following reaction takes
place :

Fe?*(aq) + Ag " (aq)—Fe’ " (aq) + Ag(s)
Given that

-[-.fﬂ

5 =xV
Ag' [Ag

I. Q

4, 5 = 1'|,I
Fe<" /Fe Y

E® A
Feot J/Fe
Options:

41852957710,

41652857711,

I"|"l|l' —
41652857712,

x+2y—3z
41eE2aE7F 12,

Question Number : 58 Question Id : 41652914733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
0 HA & 9FF 9 Gy (V H) F: T

Fifeu famd fae sAfafer 269 2
Fe?* (aq)+Ag” {aq}—;~Fe3 " (aqg) + Ag(s)
fem T 2
EY .. =%
Ag [/ Ag
E° . =yV
Fe<" /Fe Y
E? =zV
Fe?' /Fe
Options:
r—y
4152957710,
xX—2z
41552957711,
XEy—2
4152957712,
x+2y—3z
41eE2aE7F 12,

Question Number : 59 Question Id : 41652914734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For a reaction scheme A ky B ko C.
if the rate of formation of B is set to be zero
then the concentration of B is given by :

i
LSRN
k
41652957714, ~ =7

Options:

(ki k) [A]

41652857715

(ky—ky [A]

41652857716,

k.k, [A
41652957717 O 2 [A]

Question Number : 59 Question Id : 41652914734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



safuferan dom A—15B—X2,C ¥ famg,
gfe B % < H1 S YA FL 2 W A B F
gr=dl 5 % 5 &1 S

Options:

41652857714,
41652857715,
41552357716,

41652857717,

Question Number : 60 Question Id : 41652914735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
0.27 g of a long chain fatty acid was
dissolved in 100 cm?® of hexane. 10 mL of
this solution was added dropwise to the
surface of water in a round watch glass.
Hexane evaporates and a monolayer is
formed. The distance from edge to centre
of the watch glass is 10 cm. What is the
height of the monolayer ?

[Density of fatty acid=0.9 g cm 3 r=3]

Options:

10 4m
4152957718,

&
4165005771 10 M

2
41650957700, 107 M

8
41650957701 107 m

Question Number : 60 Question Id : 41652914735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



<= fw@en 9t W ufgE & 027 g H

100 cm?® 2999 H H9ien T 9 faeEa &
10 mL =1 T AR 99 7618 § T 5 &

g T =< =g ek [ 741 | o arodighd
21 e 3N U Ul Id =9 TE | 919 ol %
1 | 30 %% 9% F1 50 10 cm &1 39

Uhel Uiq ol Sa1E o941 2T 7
(TR2t ufges =1 999 =09 gcm 3' w=3)
Options:
im
41652957718,
B
41652957719, 10 "M
)
41652957720, UM
B
41652957721, 10 m
Mathermatics
Section Id : 416529318
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 41652914736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let f(x)=a* (a=0) be written as
Ax) =f,(x) + f5 (x), where f,(x) is an even
function and f,(x) is an odd function. Then
hx+y) +fi(x—y) equals :

Options:

41652957722, 1Y)



41652957723 2@ WX —Y)

a1652957724. 1WLWY)

I (x Lo
ilEEsgsyros DE YT —Y)

Question Number : 61 Question Id : 41652914736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A f(x) = a* (a>0) F1 flx) =f;(x) +/>(x) &9
# feran T & 54 f,(x) TF 79 Hed © 3R
o) T T T 8, @ Ly (xHy) +fy ()
TR T

Options:

a1650057720. 210AW)

41652957723 & TWAHE-Y)

a1650057724, 10LW)

W (x s
1650057705, J1ETWHE-Y)
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
3 F .
g 1 (i=+-1), then

(1+iz+2°+iz%? is equal to:

e

Options:

415523857726,

d16528957727.

41852957728,

41652857729,
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o 8 R e
m'.a_?+5(;_\f—_1),fh

(1+iz+25+iz8)? I ;
Options:

415523857726,
d16528957727.
41552357728,

41652857729,

Question Number : 63 Question Id : 41652914738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The number of integral values of m for
which the equation
(1+m3)x2—2(1+3m)x+(1+8m)=0 has
no real root is :

Options:

I~

41652857730,

41852957731,

41652957732 m_tnutr_-lj,’ many

416528957733,

Question Number : 63 Question Id : 41652914738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
m 35 5 O A 7w, e e mee
(1+m2)x2—2(1 +3m)x + (1+8m)=0 F FT5
ot Srafa® 9o T §, © -

Options:

2
41652957730,

3
41552357731,

41652957732,



41652857733, :

Question Number : 64 Question Id : 41652914739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let the numbers 2, b, ¢ be in an A.P. and

1 1 1

A= b; ° | Ifdet(A)e[2,16], thenc

4 b ¢

2

lies in the interval :
Options:

A3/4

4152957734, [3" 2+2 ]

416528957735, [4. 6]

2
41552357736, [2,3)

2 +93/4 .
41652057737, CHEA)

Question Number : 64 Question Id : 41652914739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AN &AM 2, b, ¢ TF HH=H Ja1 § & a9

r 4

2 P =
T ¢ |. Afedet(a)e[2 16], Fe
4 b* 2

iy fFg T d e
Options:

n3/4

A1EEZ2A5FF=E4. [3' 2+2 ]

41652857735, [4, 6]

416528957736,

5 4 93/4
-41652955??3?.{“Jr i

Question Number : 65 Question Id : 41652914740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1



If the system of linear equations
x—2yt+tikz=1

2x+y+z=2

3x—y—kz=3

has a solution (x, y, z), =0, then (x, y) lies
on the straight line whose equation is :

Options:
4y — 3]; —-1=0
41652957738,
41650057739, X~y —1=0
3x—4y—4=0
41652357740,
41650057741, X3y —4=0

Question Number : 65 Question Id : 41652914740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

g g gH Ham

x—2y+kz=1

2x+y+z=2

3x—y—kz=3

FUFEA (v, 1,2), 2208, W (x, y) T @R
feera 3, S0 THE €

Options:
4y — 3]; —-1=0
41652957738,
4lgs0as7rag. A A —1=0
3x —41; -4 =
41652957740,
41650057741, XY —4=0

Question Number : 66 Question Id : 41652914741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The number of four-digit numbers strictly
greater than 4321 that can be formed using,
the digits 0, 1, 2, 3, 4, 5 (repetition of digits
is allowed) is :

Options:



4165285774z, 20

41652857743, 360

288
41852957744,

306
41652857745, L

Question Number : 66 Question Id : 41652914741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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HF0, 1,2, 3,4, 5 TN FF (Tl AFH H1
ST W TEA §) IS S HEA At 9R
bl i HEsll, S14321 § AYF (strictly
greater) & FHEE -

Options:

4185295774z, o

41652857743, 260

288
41652857744,

306
41852957745, 06

Question Number : 67 Question Id : 41652914742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[f the fourth termin the binomial expansion

1 '-.lf'.ll
| 1 17
= T .
1 Hlogyx

x > 1, then the value of x is :

of is equal to 200, and

P

Options:

41652857746, 100

41652857747, B

4
41852957 74E. 10

41652857749,
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Correct Marks: 4 Wrong Marks: 1
¢ 1

&
1 12
—  +x
xl --]ugm_l
Y g

MM TE200 2 qA x> 12 A FTHAA S -
Options:

afe + 578 TR =

41652857746, 100

41552357747, 18

1
41652857748, 10

3
41652857749, 10

Question Number : 68 Question Id : 41652914743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If three distinct numbers a, b, c are in G.P.
and the equations ax2+ 2bx+c=0 and
dx? + 2ex +f=0 have a common root, then
which one of the following statements is

correct 7
Options:
41652957750, d e fareinG.P.
4165005775, e farein AP

sy B % |

— E’ — arein G.P.
416524957752, @ c

d e f

——. — arein AP,
41652057753, @ b ¢
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ifg & o= B a, b, ¢ TR g% § ¥ a9
THFMax? + 2bx +c =0 FARdx2 + 2ex + f=0
=+ UF SIS g €, Al A g FA-m T
FUT A T 7

Options:



41652857750, 9@ [T g% | F)

41652857751, d e {3 3@'['5[%}

A B B e e

~ 5 T gt 5 T
41652957752 @ c

R

f,g,—wmnﬁ*l
AipEngeyyes B %

Question Number : 69 Question Id : 41652914744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

20
Nk E
The sum . "7} is equal to:
[
Options:
11
2— 719
41652957754, -
2
2— 20
41652957755, =
11
1-"30
41652957756, =
3
2- 17
41652957757, =

Question Number : 69 Question Id : 41652914744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
20

= bty = 1
A :L‘lg TR
k=1 <
Options:
11
N ——
5 r}].g
41652957754, =
P
':}_ st =Y
&= 520

41652857755, =



1-"30
'jl—
41652957756 2
3
2— 37

416528957757, =

Question Number : 70 Question Id : 41652914745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let f: R—R be a differentiable function
satisfying f'(3) + f'(2) = 0. Then

1
e T, W 5 . NG
lim[ L+ f(3+x)— f(3) ‘l

- is equal to:
x=0\ 1+ f(2-x)— f(2)

Options:

416528957758,
41552357759,
41652857760,

41852957761,

Question Number : 70 Question Id : 41652914745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A f: R— R TF saFeHE wod & & &
f@)+f(2) = 0 g Fa & A

lim L Foa) = 119) ‘I W%:
x—0\ 1+ f(2—x)— f(2) ]

Options:

416528957758,

41852957759,

41652857760,

416528957761,



Question Number : 71 Question Id : 41652914746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If f(1)=1, f(1)=3, then the derivative of
AU +(f(x)* atx=11s:

Options:

416528957762,

418529577635, 12

15
41652857764,

416528957765, 3

Question Number : 71 Question Id : 41652914746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
g f(1)=1,f'(1)=3% @
SO+ (f(x)2 FTx =1 T STaFHers & :

Options:

41552357762,

41652857763, 12

15
41652857764,

41552357765, 33

Question Number : 72 Question Id : 41652914747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let f:[—1,3] = R be defined as

[|x]+[x] —-1=x <1
f(x)=4 x+|x|, 1=x<2
{II[::.‘], 2=x =3,

where [t] denotes the greatest integer less
than or equal to t. Then, fis discontinuous
at :

Options:

41650057766, Oy one point



R only two points

only three points
41552957768, !

41652957769, four or more pGHIL‘i

Question Number : 72 Question Id : 41652914747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AqAf: [—1,3] =~ R 39 ¥HE 9feafud & fw
[lx]|+[x] —-1=x <1
f(x)=9 x+|2, 1=x<2
| x+[x], 2=x=<3,
STl [t], t 31 3HH F9 Afwan gt H1 g9
T, f o

Options:
41650057768, FAQ U (45 T

41650057767, TG o fHgS W

41650957765, P A fagsl W

41652957769, ¢ Al SHE HeH gl W

Question Number : 73 Question Id : 41652914748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The height of a right circular cylinder of
maximum volume inscribed in a sphere of
radius 3 is:

Options:

2
=3
41652057770, O
41650057771 2¥3

41652957772, VO

41652857773, "‘E



Question Number : 73 Question Id : 41652914748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T et forant 5= 3 B, % st = s
AFT F AT JeH H S=E ¢ ;

Options:

41652957770,
4165295???L.2J§
41652957772, VO

41652857773, "‘E

Question Number : 74 Question Id : 41652914749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If

1
X xf(x)(1+15)3 +C

X (1+ xﬁ]" 3

where C is a constant of integration, then
the function f(x) is equal to :

Options:

41652057774, X

1
41652957775,  2X
1
21‘3
41652957776,
a
i
A1B50a5 7777 W

Question Number : 74 Question Id : 41652914749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



B

1
jd—xz,zxf(x}mx"p 40
X

5 (1 +I6 }‘5

W&l C U WA A 8, A e flx) TR
B

Options:

41652057774,  bx”

1
41652957775,  2X
1
2x°
41652957776,
a
7
A1B50a5 7777 W

Question Number : 75 Question Id : 41652914750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X

Let f(x)= _[g{t]dt , where g is a non-zero
0
even function. If f(x +5)=g(x), then

_[f (Bdt equals :
0

Options:
5
[ s(tat
41652957778, ¥t
-J.'+5
[ gty
5

41852957779,

r+5
2 [ g(tydt
41652957780, 2



5
5 [ s(vdt
41652957781, **+3

Question Number : 75 Question Id : 41652914750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T f(x) = [(t)dt ¥, e g v Y T e
0

¥ A fr+5)=g() 7, A [f()dt TERE

1]
Options:
5
[ g(pat
41652957778, ¥t
.J.'+5
[ g(vat

41652957779, °

x+h
2 [ gty
h

416528957780,

D
5 [ s(vdt
41652957781, *H3

Question Number : 76 Question Id : 41652914751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let S(a) ={(x,y) : y¥*=x, 0 =x =a}and A(a)
is area of the region S(a). If fora i, 0 <A <4,
A(N): A(4)= 2:5, then Aequals:

Options:

._.~.=|-—-l

I 4 )
a25
41E52957782,

415523857783,



R
z[:
4152957754, 5*"

.4 Na
2| 55|
41652857785, 7/

Question Number : 76 Question Id : 41652914751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A S(e) = {(x,y) 1 P=<x, 0 =x <o) T A(w),
AAS (o) FT SAFA L | AFGTFH N, 0 <A <47F
fom A(A\): A@)= 2:5% AR E :

Options:

41652857782,

41552357783,

3(3“’*
5)

1

4 Y2
2{ 4 43
25)

41652857784,

Fa

41852957785,

Question Number : 77 Question Id : 41652914752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Given that the slope of the tangent to a
2y
curve y=y(x) at any point (x,y) is —5 . If
X

the curve passes through the centre of the
circle x* + y* — 2x — 2y =0, then its equation
15 :

Options:

41652057756, ¥ 108 Y] =2(r—1)

41652057787, Y108 lyl=x-1



aigsoosyrag, ¥ 10Belyl=—2(x—1)

2 i, o
41652957789 ¥ 108 V| = —2(x—1)

Question Number : 77 Question Id : 41652914752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fem T f % y=y(x) & T f?ﬂ (xy) W
ol [t ) 21’!
wi=l T T T # 2 (slope) —5 €1 AR
X
TE T, T2 +y2 —2x— 2y =0 g5 9 B
STl 2, 91 S THIE R

Options:
41652057756, ¥ 108 Y] =2(r—1)

41650057757, X108 ¥l =2—1

Jitesgsrren T PBelyl=—2&=1)

2 iim o
41650057789 ¥ 108 V| = —2(x—1)

Question Number : 78 Question Id : 41652914753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The tangent and the normal lines at the
point (J3, 1) to the circle x2 +y?=4 and
the x-axis form a triangle. The area of this
triangle (in square units) is :

Options:

A

416523577930, ﬁ

1

41652957791, 9

.J‘|| -

41652957792 V-

2

416528577393, "ﬁ



Question Number : 78 Question Id : 41652914753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
9 2 +12=4 % fag (3, 1) ™ di=E T
I T SR AfYEE T x- 219 U s =9
g1 ™ Bye =1 (= s H) EFEE T
Options: _
k.
s
41652957730,

1

41652957791, 9

.J“|| e

41652957792 V*

3
416528577393, ﬁ

Question Number : 79 Question Id : 41652914754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Suppose that the points (h, k), (1, 2) and
(—3,4) lieon the line L. Ifa line L, passing
through the points (h, k) and (4, 3) is

perpendicular to Ll, then % equals :

Options:

.-P"Plb_'l

416528577394,

41552357735,

416525957796,

41652957797, 71

Question Number : 79 Question Id : 41652914754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A a3 (b, k), (1,2) 41 (—3,4) TH @@L, W
frorg 1 afe fagsdi b, k) 991 @, 3) § 2

S et 11 L, WL, F e €, % T

e

Options:

L | =

416528577394,
41552357735,

416528957796,

41652957797, /1

Question Number : 80 Question Id : 41652914755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The tangent to the parabola y2=4x at the
s 22 s 3
point where it intersects the circle x=+ yz =5
in the first quadrant, passes through the

pm’.t‘nt ;
Options:
[_ 1 4‘*|
41852957798, 3 3)
[ 1 11
4" 2
41652957799, 4
3 7 “|
4165295?8@@.“4 4)
1 3“|
41652957801, 4

Question Number : 80 Question Id : 41652914755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
WA 12 = 4x F 39 foig, Fel Fe Fua+ 12 =5
F1 999 =Sq4i H FEa §, W @A MW



Options:

(%
:

",

03| e

41552357738,

—

r

e | =
Fd | =

416528577945,

3

3?|
4165295?8[:3[:3_“-4 4)

1 3‘|
41652957801 4 4)

Question Number : 81 Question Id : 41652914756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In an ellipse, with centre at the origin, if
the difference of the lengths of major axis
and minor axis is 10 and one of the foci is

at (0, S\E}, then the length of its latus
rectum is :

Options:

41852957802,

41652857803, 1V

416528957804,

41552357805,

Question Number : 81 Question Id : 41652914756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afs v riga foa Fg qafag W e, F 4
e TN T A% F AAZA F1 ST 10 T q0

TE ATEHS (0, 543 ) T E, T T7F Aieera

Options:
41652357802, 8
10

416528957803,



41552357804,

416525957805, >

Question Number : 82 Question Id : 41652914757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the eccentricity of the standard hy perbola
passing through the point (4, 6) is 2, then
the equation of the tangent to the hyperbola

at (4,6)1s:
Options:

-
41652057508, X ~2y=0

F —f— T —
41650057807, =X Y270
41650057808, =X oy 10=0

x—2y+8=0

41652957209,

Question Number : 82 Question Id : 41652914757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

7fE 45 (4, 6) F B o 9161 S ATTTed

=1 SehEd 2 8, (4, 6) T AFAREe™ T @it
TS TI91 T 1 TEHE §
Options:
N S
41652057808, X 2y =0
o
41650057807, =X Y270
41650057808, =X oy 10=0
x—2y+8=0
41652957509,

Question Number : 83 Question Id : 41652914758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The vector equation of the plane through
the line of intersection of the planes
x+y+z=1 and 2x +3y+4z=>5 which is
perpendicular to the plane x—y+z=01s:



Options:

—3 A

rx(i+k)+2=0
41652957310.

.—:‘ F, A,

e s
165005781y, [k +2=0
atesposrare (17K -2=0

. A

B X i
1650057813, | (1K) +2=0

Question Number : 83 Question Id : 41652914758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

THAE] x+y+z=17T49 2x+3y+4z=>5 Ea
gfaeged @ H ¥ T I g a9 9Had
x— y+ z=0 7 Aaad THTA F Tfaw THEH]

Options:

—% A

rx(i+k)+2=0
41652957810,

% A =B
41652957811, | (i—k) 0
atesoos7gle. T (I7K-2=0

S,

WL I_ " j:
41652957813, | (i-k)+2=0

Question Number : 84 Question Id : 41652914759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a point R4, y, z) lies on the line segment
joining the points P(2, —3, 4) and
Q(8, 0, 10), then the distance of R from the

Origin is :
Options:
418524957814 53

416528957815, 2J14



-
41652057816, 2V21

416525957817,

Question Number : 84 Question Id : 41652914759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afe U fag R(4, y, 2), Mg# P2, -3, 4) a1
Q(8, 0, 10) =1 THeT =l TaErETe W figq €,
@R = HeAfag g {fT &

Options:

41552357814,
415528957815, © =
415528957816, =Y°

416528957817,

Question Number : 85 Question Id : 41652914760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let a=3i+2j+xk and b=i-j+k, for

— =

some real x. Then |5+« h

B

0<r=
\

=TI is possible if :

Options:

2

4152957818,

|E E

2 <T=33

41552957519, = =

3 B

“xr<ch

V2 \2

3
41652857820,

41652857821,

Question Number : 85 Question Id : 41652914760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
A1 T ET grmfas 9@ o« F fau

a=3i+2j+xk W91 b=i—j+k 21 @

‘;};;‘w T T B, 94

Options:

41852957815,

'_

3

< =33

4165249575149, 2 =

41652857820,

41552357821,

Question Number : 86 Question Id : 41652914761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A student scores the following marks in five
tests : 45, 54, 41, 57, 43. His score is not
known for the sixth test. If the mean score
is 48 in the six tests, then the standard
deviation of the marks in six tests is :

Options:
100

41652957822 3

10

416525957823, 3

10

3

41652857824,

100
41652957825, V9

Question Number : 86 Question Id : 41652914761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



ue famneft a9 whensdi § = @i 9
€ :45, 54, 41, 57, 43. SH% R B T
I 3 F9 Tl &1 Afe B ghensdi § e
Al =1 AT 48 T A F: TN H g Hehi
=1 T fa=er 2 ;

Options:
100

41652957822 3

10

416525957823, 3

10

3

41652957824,
100
41652957825, V9

Question Number : 87 Question Id : 41652914762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The minimum number of imes one has to
toss a fair coin so that the probability of
observing at least one head is at least 90%
15 :

Options:

-3

416525957826,
415523957827,
41652857828,

416525957829,

Question Number : 87 Question Id : 41652914762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U FAYAG HEE = FH 9 FH R aR
IBAl S qifek FH 4 F9 T =9 A *
iR, %9 | FH90% 77

Options:

2
416528957826, ©



41652857827,

416525957828, :

41852957829, 5

Question Number : 88 Question Id : 41652914763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the lengths of the sides of a triangle are
in A.P. and the greatest angle is double the
smallest, then a ratio of lengths of the sides
of this triangle is :

Options:

i T iy
41 eE2aE7EZ0.

i S
41552957531, 9:9:1

4:5:6
415295782,

3:4:
4152957833, 4:5

Question Number : 88 Question Id : 41652914763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

H F 91 T d o2 S0 Had BIE B0 FH
T T, o A9 F1 Jensd = S w1 U
S ¢ :

Options:

41852957850,

i S
41552957831, 9:9:1

4:5:6
41552957832,

J:4:
4152957822, 4:5

Question Number : 89 Question Id : 41652914764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Two vertical poles of heights, 20 m and
80 m stand apart on a horizontal plane. The
height (in meters) of the point of
intersection of the lines joining the top of
each pole to the foot of the other, from this
horizontal plane is :

Options:

41652857824, 12

41552357835, 2

416525957836,

41652857837, 18

Question Number : 89 Question Id : 41652914764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

20 Y, TAT 80 HY. I A6l < GWH, T A
T Y W ¥ yeds @9 % frar &
UL Y IS H e =l wEns # gfasse
fag =1 50 I9aa 9 39 (e §) ¥
Options:

41552357824, 2

416525957835, 2

41652857836,

41552357837, 18

Question Number : 90 Question Id : 41652914765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the following statements is
not a tautology ?

Options:

(Pra)—p

416528957828,

iigesesyans PV

Pvg—=({Pv(~9)

41652357840,



PAg—=(Ppvg

415523575841,

Question Number : 90 Question Id : 41652914765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= w94 § | FH-W UH, T (A
(tautology) &l & ?

Options:

(Prg)—p

41852957858,

a1a50957830. PPV I

Pv g —=pv(~q9)

41652357840,

PAg—=(Pvg

41852957841,



